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q = lambda 1: q( @[x for x in 1[1:] 1f x <= 1[0]]) + [1[0]] + q([x for x in 1 if x > 1[0]]) if 1 else []
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Ist = [x**2 for x in range(10)]
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for 1 in range(10):
squares.append(i**2)

print(squares)
# [0, 1, 4, 9, 16, 25, 36, 49, 64, 81]
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# FREE
print([1**2 for 1 in range(10)])
# [0, 1, 4, 9, 16, 25, 36, 49, 64, 81]
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import numpy as np
import matplotlib.pyplot as plt

sequence = np.random.normal(10.0, 1.0, 500)
print(sequence)

plt.xked()

plt.hist(sequence)
plt.annotate(r"s$\omega_1=9$", (9, 70))
plt.annotate(r"$\omega_2=11$", (11, 70))
plt.annotate(r"$\mu=10$", (10, 90))
plt.savefig("plot.jpg")

plt.show()
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# RERRAEN

import numpy as np

# BR B BITHE-—EEFNEETH
## row = [u?%f' 1, FR2, 8FF1, §8¥5F2]
# 1 EEERKBEERZIER -

basket = np.array([[0, 1, 1, 0],
[0, 0, 0, 1],
[1, 1, o, 0],
[0, 1, 1, 1],
[1, 1, 1, 0],
[0, 1, 1, 0],
[1, 1, 0, 1],
[1, 1, 1, 11D)

# — (TR
copurchases = np.sum(np.all(basket[:,2:], axis = 1)) / basket.shape[0]

#it 45
print(copurchases)
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# KBIEAES
from sklearn.neural_network import MLPRegressor
import numpy as np

## %5 ER (WEEK, YEARS, BOOKS, PROJECTS, EARN, RATING)
X = np.array(

[[20, 11, 20, 30, 4000, 3000],

[12, 4, 0, 0, 1000, 1500],

[2, o, 1, 10, 0, 1400],
[35, 5, 10, 70, 6000, 3800],
[30, 1, 4, 65, 0, 3900],
[35, 1, o, 0, 0, 100],
[15, 1, 2, 25, 0, 3700],
[40, 3, -1, 60, 1000, 2000],
[40, 1, 2, 95, 0, 1000],
[0, 0, ©, 0, 0, 1400],
[30, 1, o, 50, 0, 1700],
[1, o0, 0, 45, 0, 1762],
[10, 32, 10, 5, 0, 2400],

[5, 35, 4, 0, 13000, 3900],
[8, 9, 40, 30, 1000, 2625],
[1, o, 1, o, 0, 1900],

[1, 30, 10, 0, 1000, 1900],
[7, 16, 5, 0, 0, 3000]])
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## —1TI2%
neural_net = MLPRegressor(max_1iter=10000).fit(X[:,:-1], X[:,-1])

# HER
res = neural_net.predict([[0, 0, 0, 0, 0]])
print(res)
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## AR

res = neural_net.predict([[0, 0, 0, 0, 0]])
print(res)

# [94.94925927]
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## R

res = neural_net.predict([[20, 0, 0, 0, 0]])
print(res)

# [440.40167562]
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